
WSPÓŁRZEDNE
WSPÓŁRZĘDNE GEODEZYJNE KABLI I STANOWISK SŁUPÓW

M1 X = 6610059.6650  Y = 5753063.6986
M2 X = 6610066.5887  Y = 5753057.0875
M3 X = 6610058.0020  Y = 5753047.9844 
M4 X = 6610059.1158  Y = 5753046.8644
DALEJ KABEL MONITORINGU WZDŁUŻ KABLA OŚWIETLENIOWEGO 

E1 X = 6610061.7281  Y = 5753051.1482
E2 X = 6610059.5772  Y = 5753047.4193 
E3 X = 6610047.1037  Y = 5753034.1496
E4 X = 6610046.6955  Y = 5753034.5579
E5 X = 6610036.1788  Y = 5753023.4935
E6 X = 6610031.7184  Y = 5753018.0773
E7 X = 6610028.9784  Y = 5753017.9339
E8 X = 6610015.5088  Y = 5753037.7569
E9 X = 6609994.9607  Y = 5753059.3796
E10 X = 6609986.1992  Y = 5753061.6894
E11 X = 6609977.4058  Y = 5753061.6257
E12 X = 6609970.3084  Y = 5753058.5283
E13 X = 6609964.5226  Y = 5753053.6601
E14 X = 6609959.8073  Y = 5753045.3000
E15 X = 6609959.1685  Y = 5753036.1076
E15A X = 6609961.4115  Y = 5753028.8180 
E16 X = 6609965.9738  Y = 5753022.8537
E17 X = 6609987.8207  Y = 5753000.5572
E18 X = 6609991.0016  Y = 5753003.5749
E19 X = 6609982.8862  Y = 5753012.3836
E20 X = 6609990.1860  Y = 5753019.9689
E21 X = 6609992.6451  Y = 5753029.0024
E22 X = 6610039.5284  Y = 5753011.4424 
E23 X = 6610036.1354  Y = 5752998.0662
E24 X = 6610036.1354  Y = 5752998.0662
E25 X = 6610049.1853  Y = 5752986.7781
E27 X = 6610076.9163  Y = 5752976.4687
E28 X = 6610093.9067  Y = 5752953.6148
E29 X = 6610104.3466  Y = 5752928.8853
E30 X = 6610128.6194  Y = 5752913.2254
E31 X = 6610148.6499  Y = 5752894.0593
E32 X = 6610154.1291  Y = 5752897.5471 
E33 X = 6610167.3703  Y = 5752912.0051 
E34 X = 6610185.7061  Y = 5752931.9100 
E35 X = 6610159.4658  Y = 5752884.1641
E36 X = 6610161.8719  Y = 5752879.1073
E37 X = 6610159.9144  Y = 5752873.5611
E38 X = 6610159.7105  Y = 5752869.9316
E39 X = 6610163.1361  Y = 5752863.3658
E40 X = 6610162.1981  Y = 5752858.8392
E41 X = 6610148.3444  Y = 5752832.5953
E42 X = 6610148.3444  Y = 5752832.5953
E43 X = 6610139.2165  Y = 5752835.7176
E44 X = 6610130.7137  Y = 5752848.0742
E45 X = 6610111.3427  Y = 5752871.2785
E46 X = 6610103.7147  Y = 5752885.3561
E47 X = 6610101.5533  Y = 5752900.0780
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E48 X = 6610101.8256  Y = 5752911.9027
E49 X = 6610099.7866  Y = 5752924.7895
E50 X = 6610089.9322  Y = 5752928.3437
E51 X = 6610076.8348  Y = 5752931.5408
E52 X = 6610059.9107  Y = 5752938.6775
E53 X = 6610051.7137  Y = 5752944.2644
E54 X = 6610043.8022  Y = 5752952.7061
E55 X = 6610043.8022  Y = 5752952.7061
E56 X = 6610026.3402  Y = 5752968.3046
E57 X = 6610020.3454  Y = 5752973.7693
E58 X = 6610017.7354  Y = 5752979.6417 
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